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ghierreff gauem 3799 Y9 -9 9 A I1femia; ford |
gt 99 7 S HAERE E |

T I T I ¢ 718 ITR-Yf&aeht § Feiftd sreg-wfmy & ford |

T GEAT 1 | 10 T (TgIhed s TH1) o ITL ATIcTeh] ST STR-JTehT H T |
T EAT 11 T 30 T Ueh Uitk § 3T fo1d |
I BT 31 T 36 b g W IR uferdai § 37 ford |

T AT 37 T4 38 % IR Gl I8I qoh (19 |
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gug — A

g forehed <+ -

I. TIthinkI  anew calculator. This one does not work properly any more. (%)
(a) needs (b) needed
(c) need (d) am needing

2. What time (%)
(a) the train leaves ? (b) leaves the train ?
(c) 1is the train leaving ? (d) does the train leave ?

3. 1 for my pen. Have you seen it ? %)
(a) will look (b) looking
(¢) look (d) am looking

4.  You can keep my ipod if you like. I it any more. (%)
(a) don’tuse (b) doesn’tuse
(c) didn’tuse (d) am not using

5. MO39 I AR H SR AE R (%)
(31) TE T TS YA @) T fepad
(@) TBiTRa UgRm () WA
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6. o= 9 formen widltge TR ST Gehal B ?

(37) AR @) freiiEd 1R
(@) AR (§) HiFeaR

7. = 1 9 e - ST 1 e B

(37) Wesfe @) gt
@) Afert @ a3

8.  OR &aM g (True) goI &M
() SEEN THHINTHEG & (F) B3 Wi T T2 &

(@) TR e Terd &l (@) () HAYST () gl

9. HTML®?
(31) BTEW R ATh3TT Tivals] (§) BISW SHRL HiSie east
(F) TTEW TR U= Thel (§) SUad H B hIg Tal

10. HTML Heading T~ &q i G1 e Teid 8 ?
() 39 6 TEA ¢ |
(&) ZHb T % T Hl § HO B # |
(@) HI 998 Sl 8l & 9 H6 & 97 |
(@) HI1 9=d 98181 8 9 H6 68 B |
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11.

12.

13.

14.

15.

16.

17.

g —§

Teh I1eC IT Ueh 1o H I 1T

Fill in the blank with correct form of verb in bracket.

I am on my computer. (work)

Which word indicates Pronoun (He-T9) in sentence ?

“They were going to market”

Complete the sentence using the correct form of verb in bracket.

He football and then he went home. (play)

T & TH TG A TR ?

FHFH BT T FTadg T haet ohl HE 2aeh o Ug Wige & e
o fepe ST 2 |

Tfce-HIg BIgsR 1 TIT o fou fera ST 2 1

e HETHETR |
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26.
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ST ITIT KL S1eT ol ARU{ag fegmae i & fore femam ST 2 | (%)
T ITANT hleh ThHiT Gic o ehd & | (%)
T I T AFRR § Th F91 S&are §41d @, fehiee €9 & oftq @I
A B | (*2)
Tiesfie AiFaR ATTSIehe] HaH YEH LAl &, S BT 8 & q8d HeH
ATESt g U AATSTehel SIISISH o dgd 3Uaiedl 7 | (%)
IR ¥t e o IRt HE B Al %M ¢ (True) Ted T T 2 | (*4)
HHH ST H @R T TEH T & | (%)
TS 3R B frehen FCEED g % dad SUeTed 7 | (%)
= &1 e B9 9Tt A % 88X, Bet N A3 hl A HH o forw 3w
fer ST B | (*2)
IR ENCE T Eh g H 3T 7 | Q)
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27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

6
fifia Srgget % arg <l ffer o J8s 9o < forg 1 forehed JERT L Hehd 4 |

HTML 1€ ¢l sishe & o= § foran siran 8 5 T TH TG fe@d 8 |

Teh W] Ufeti=e @ feent 3w HTML o H%RU1 &l §d o foru fepan Smar
2l

TR gH grft <hl fofir=r argi d wen g i gw ST H I HA B |

g -4

Teh 3CTEWT o 1 10T ol THLTST |

3T HETST IR H Seh 5o [hee T forshed! o 3698 THeTST |

Explain Future continuous tense with example.

TTeh3TT AT <h] HHEATSY |

JETEE Sl GLEAT o hY =T A1 8 ? GHATT |

TAIAT <o T I3 IaTel dlgd THeST |
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37. Zoeh IATATS ol fodR ¥ HHETEY | (3)
38. =1 = gwemT (3)
() Heradm
(ii) ST

(iii) STETERT & T 6t fer@t

(iv) AJAX
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